| Efficiency vs Dxy |
> 0.2
<

s b S
0 0.8 - ; : : o]
2 | ]
Y e 1 | 1 S 1 o S
2 C 5 5
©0.24F ot e
5 - :

0.12
0.4F {1+

o

‘ s
”

f\\ \

©
o
[*2)
TT T TT T[T I T[T T [TTT 17T
i

&

=
LELENL N (R
-

0.9850 15 -

15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

0.2 —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
N . ' T T T
> : : :

0.8
> : : : : :
0B
(&] - . . . N N
E0.14 o Frrereree frorereeeee A )
o : : : : :
e
%2 WIS NS WS NN S I S
0,08}t
T ORISR S S 2
OR8] {1 NN . S | 413

o0zl A TR

Ratio

I-p------- [ 2 3 SRR TR LR IEE S AREE A P T SEERE T SRR S R Y

0.950+|}------- ..... " AP . ..... I

230 20 -10 0 10 20 _ 30
TP dz (cm)



	Contents
	Page 1


